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Cheatography

Skel leidbeiningar Skel leidbeiningar (cont) Floating point (cont) Hw3 problem 1

Skel Hvad pad gerir: head Output the first part of file e is an integer 101 Mantissa = Deemia : (@ A b) & ~b) | (~
Command uniq checking for codedon is between = non-zero (a”b)&b)
touch create uniqueness, leita eftir = T Bl Sl (x&~b) | (~x&b) = x"b //x = a’b
S field)
o compression eiginleikum t.d. nafn (ab) "b=arbrb<a
M=1+f M =1 infinity =
grep search for pattern chmod  change access exp0 4l Daemib: 1 4 (a << 3) + ~a
pattern in files permissions onZs
files cut Divide a file into several . ~a+ 1+ (a<<3)
Mantissa
rm -r remove directory P all-zero -a+(a<<s)
tail output last 10 lines more show a file one screen at -a+8a="T7a
of file atime Data types Daemic ; .(~a|
xf-of  extract-create ! runafle c Assembly Assembly Size  (°"(MIN_INT+MAX_INT))
grep -r search recursively __ data  equilvalen suffix in ~(~a (b "-1)) = ~(~a|~b) = a&b
o Bitwise operator
in dir types t bytes Dzemid S (a<<4) + (a<<2) +

i delete file AND & 1001 AND 0101 = 0001 char byte b 1 (a<<1)

OR| 1001 OR 0101 = 1101

man Manual, get help short word w 2 a*16 + 4*a + 2*a =22a
info documentation, NOT ~  NOT 1001 = 0110 int double | 4 Deemie : g A (MIN + MAX)/
replaces man XOR” 1001 XOR 1011 = 0010 word (MIN + MAX) = -1
erfidara ad nota
char*  double | 4 ar-1=~a
pwd show current Precision F10 e

D if-
working directory @mit: ~((a|(~a+1)) >> W)&1

Single 1's - exp 8bits - float single s 4
cd change current precision 32 frac 23bits precision IS0 SR e S
director i 0000 = 0000
Y I double double | 8
Is show lists of files or  poyble 1's-exp 11bits - precision 1XXX5> W == 111110000
information isi i >> W == 0000
precision 64 frac 52bits long Extended  t 10/12
cp copy file bits double  precision ~(1>>W)&T\0&1=0\1&
1=1\(a==0)
mv move file or
rename it Floatingipoint GCC compiler Deemi g : ((a<0)?(a+3): a)>>2
mkdir make directory Case 1 Case 2 Case 3 gcc-O1-S  source file sum.c, output file a/ 4 gerir ekki rad fyrir minus
rmdir delete directory Normaliz  De- Special -m32 -0 sum.s, level 1 tolum
: imizati i Daemih - .
o print byte,word and ed normaliz  values sum.s optimizations, 32 bit ~@>> W) 1)
line counts values ed sum.c LD ~(sign << 1)
sort Sort text files values ~1111 << 1 // negative
i Serdl i e e Exponent  Exponent sértilfelli 0001 = 1
. field is field is deilt med
screen in one go R -
] neither all-zero 0og 0000 << 1// positive
cat *.txt >  add all .txt files all-zero sendaleiki 1111 = 1
outfile together B
nor all- nn Daemii: g 55 2
less Display output one one
SRR £ £ e gerdur til ad rugla thvi hann
E=e- E=1- Exponent tekur ekki minus tolur
bias bias =all
ones
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Problem 2 Problem 6 (cont) _ HW4 problem 3 (cont)

Cheatography

Number Decimal Binary movl 16(%ebp),%edx \\edx = — int mat1[M][N]
inde] Tag_Vabd By 3 e £2 Byie i
Zero 0 00000 val i :;“ .1‘ ‘ int mat2[N][M]
movl 12(%ebp),%eax \\ eax R4 ERIE: mat1[illil = mat2[illi
n/a -4 11100 _ S| 2 iyl e it oIt
=n 7 1% ; mat2 =36j =36 = M
n/a 11 01011 decl %eax \\ eax = n-1 mati = 144 = N
i 14 10010 js .L3\\if(n-1 < 0) goto .L3 b gt
) L7 o8ruveldi er forir
a 14 01110 cmpl %edx,(%ecx,%eax,4) \\
n/a -1 10101 temp = afi] - val HW4 problem 3
TMax 15 01111 jne .L3\\ if (a[i] != val) goto
13 copy_element:
TMi -16 10000
" decl %eax \\ eax = i-1 pushl %ebp
TMin + 0 00000 jns .L7 \\if(i >= 0) goto .L7 movl %esp,%ebp
TMin L3: pushl %ebx
TMin + 1 15 01111 movl %ebp,%esp movl 8(%ebp),%ecx // %ecx =i
TMax + 1 16 10000 popl %ebp movl 12(%ebp),%ebx // %ebx = j
ret movl %ecx,%edx // %edx = i
“ULHED? -2 Lo int foo(int *a, int n, int val) { leal (%ebx,%ebx,8) %eax // %eax = 8j + j =
-TMin -16 10000 int i 9j

for (i=_n-1__; (a[i] ==

Minus tdlur  ~10000 + 01111 + sall $4,%edx // %edx = 16i

1 1 val) && (i>=0)_;i=1i-1) o5 g2 oeax // %eax = 36j
{ subl %ecx,%edx // %edx = 16i - i = 15i
: movl mat2(%eax,%ecx,4),%eax // Y%oeax =
} mat2 + 36j + 4i
Descrip Hex m E return i; .
T | sall $2,%edx // %edx = 60i
movl %eax,mat1(%edx,%ebx,4) // mat1 +
-0 8000 M= 1 - bias 60i+ 4j = %eax
0256 =-62 movl -4(%ebp),%ebx //
smallest 256/256 E=e- movl %ebp,%esp //
value > +1/256  bias =0 popl %ebp
1 = ret
257/256

Largest 255*2 255/256 E=1-

Denorm  7(-70) bias(63)
alized =-62
Hex m = E=e-
3AA0 1+fracti  bias =

on/2"8 58 -63

Problem 6

1l
I d“

foo:

pushl %ebp

movl %esp,%ebp

movl 8(%ebp),%ecx \\ ecx = *a
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